€T

A2

1
2.
2.1
f:A>B f A B
A A f B
f f A B f(x)
f f[A] A f
2.2
f:A>B
0] ( ) A a & ata f(ar) = f(2)
f(ar) = f(a) a=a
(ii) f[A] =B
(B A )
(iii) ( ) f
f—l
f 1
( ) y=X
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<1

(i) fx) ( ) X2> X1 f(x2) = f(x1) ((f(x2) > f(x1))
(i) () ( ) X2> X1 f(x2) < f(xa) ((f(x2) <f(x0))
y y = f(x) y
\f(x)
Ol Xq Xz;x Ol X1 X9 > X
f(x) # f(x)
f g f+g f-g fxg
flg ( X g(x)=0)
f:A>B g:B>C f g gef:A>C A
X gof(x)=g(f(x))
gof
a(f()

23 2

@

(b)

(© X o

(d) Vx? 41
24 14

sin? @+cos’f=1

tan? 6+1 = sec? @
cot? §+1 = cosec® 6
nz
—* 0
( > )
1)

sin(A £ B) =sinA cosB £ cosAsinB
cos(A + B) = cosAcosBFsinAsinB

tan(A + B) = {anA £1anB
17F tanAtanB
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a1

2
sin2A = 2sin A cosA

C0s2A = cos® A —sin? A
=2cos’A-1
=1-2sin’A

1-tan?A

sin3A =3sinA —4sin® A
cos3A = 4cos® A — 3cosA

3
tan3A = 3tanA —tan°A
1-3tan?A

(©)
sn2A =1 cosa)
2 2

cos2A =111 cosA)
2 2

sinA = 2 COSA ==——
1+

4
SnA +sinB= 25inA—42’BcosA—;B

snA —sinB:ZcosA—szBsinA—gB

A+B A-B

COSA + cosB = 2cos cos >

YA

A+B . B-A

CosA —cosB = 2sin sin 5

sinAcosB :%(sin(A +B) +sin(A - B))
cosAsinB :%(sin(A +B) —sin(A - B))
COSA cosB :%(cos(A + B) + cos(A - B))

sinAsinB:%(cos(A —B) - cos(A + B))

acosx +bsinx rsin(x+a) r cos(x+f)

logax =y x=a¥ a>0 a=z1l
X logx f(x)
(logg x)2 loge(1+ tanx)

f(x) =logg x a>0 a=1

i) f(x) x>0

(i) a>1 f(x) O<ax<l1 f(x)
logp C

(iii) b ¢c>0 b#1l loggc=—"—
logp a

(iv) f(a)=logga=1
V)  f(®=logal=0
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f(x)=a a>0 a=l
) fx
(i) a>1 f(x) O<a<l f(x)

(i) fO)=a=1
0]

f(x) =log, x a>1 O<ax<l1l
(i) a>1 O<ax<l1

0] Iim(1+1jx =e
xow X
(i) lim@+h)=e
(i) log, x :J'X%dt
(iii) loge x /nx

f(x) =logg x a>0 a=l
(i fe+F(y)=f(xy)
(i) f(X)—f(y)=f(1)
y

(i) f(xM=nf(x)

g(x) =a* a>0
(i) gx+y)=9(x)-9(y)
(i) ox—y)=2
a(y)
@iy g(nx)=(g(x)"
& Inx
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